[, 00000 0060 0 ol

o i TS

[y )

10

o
(-]
o
o
o
o
o
D
L)

@

o ofo o o o) o o 0 o o o 0 Q[0 ° 0 0} o 0 00Q 00'0 000 O 0 [o (- 0} 0 K] 0o 0 9 O o 0 Q o o 0 o0
2&-—:H ]T 11—

220 21 —o
17 16

16.08.04

12
© ofloc o6 0|0 ® . © 0| oc|lo|e (© . ©® ©(0 o]0 ([®_.© o
80 N e N
23 45 ——a =
-3 25 —4& o o %
—0
1 . 43 1.1 26
18 ) 0 q &1? ‘1;1"? oo r:@
&) L5 42 L4 L6
19
21_@@@ L7—ﬂ ﬂ o140
1400
Ennepetaler Schoeid-u. Artikel-Nr.| Lange Artikel-Nr.| Lange
Hahtechaik GabH v.Co KG Universalbalken 100 146 87 e¢m| 100 150 | 137 «¢a
Kilner Strasse 19 ESM Tielbirger 15].55.56.60.6615.1\? 100 147 97 m
Teteran (01303) 9688-0 (100 148 1107 cm
Telefax (02333) 96088-88 _ 100 149 1T n
Pos fArtikel-Nr Bezeichnung Pos {Artikel-Nr] Bezeichnung Pos{Artikel-Nr Bezeichnung
249 0130 Mahmesser 87 (m Nur auf besondere
249 0140 Mahmesser 97 m Bestellung:
249 0150 Mdhmesser 107 m 238 0170f Laufsohle, kpl.
249 0160 Mahmesser 117 ¢m 161321 0041 Balkenklinge best.aus: Pos.40-47
269 0170 Mahmesser 137 (m 171321 1041 Doppelbalkenkiinge 40] 341 0090| Laufsohle
bestehend aus: Pos.1-10 181267 0810f Messerhalter kpt. 61 341 0890] Laufsohlenhalter
1)544 0151 Senknief 5x17 191560 2230 Sechskantschr.M8x25 421555 0190) Scheibe 8,4
2564 0171 Senkniet 5x20 200537 0610) Sicherungsmutter VMB | 43| 565 0110) Federring A8
3[544 0181 Senkniet 5x22 211537 0420 Sechskantmutier M8 441565 0310/ Schnorr-Scheibe S8
221565 0110 Federring A8 45} 537 0420[ Sechskantmutter M8
5[344 1331 Messerklinge 231332 0670 Fihrungsstick 46] 560 2230) Sechskantschr. MBx25
6364 1311 Doppelklinge 24559 0130 Flachrundschr M8x45 47| 559 0300| Flachrundschr.M8x35
7344 1321) Doppelklinge 251559 0299 Flachrundschr.M8x30
81332 0040} Fihrungsleiste 26(559 0030 Flachrundschr . M8x23
91374 0130| Verstirkungsleiste
101352 0150{ Messerricken 87 em

352 0160 Messerricken 97 m
352 0170| Messerricken 107 m
352 0180| Messerriicken 117 m
352 0190 Messerricken 137 ¢m

Unfallsicherung
925 0050/ PV(-Schutzleiste B86cm

121304 0510[ Balkenricken 87 cm 925 0070f PY(-Schutzleiste 97¢m
304 0520 Batkenricken 97 cm 925 0090| PV(-Schutzleiste 107¢m
304 0530 Balkenricken 107 ¢m 925 0110| PV(-Schutzleiste 117¢m
304 0S40 Balkenriicken 117 cm 925 0140/ PV(-Schutzleiste 137cm

304 0S50{ Balkenricken 137 ¢m




